
Caution: Please read through the instructions carefully.  Installer is responsible for damage 
if instructions are not followed properly.   Weight limit not to exceed 250 lbs. 

Revision 093022

SEAT-683 
RHOX Rear Step Kit

Fits RHOX SEAT-300, 400, 700 and 900 Series Seat Kits 
Installation Instructions

Contents of Kit QTY
a Step Plate 1

b Mounting Bracket B 1

c Mounting Bracket C 1

d Hardware (Contents on Next Page) 1



PAGE 2

Hardware Kit
 
 
 
 
 

Contents QTY Torque Requirements
a M10 x 50mm Hex Head Bolts 2 38 ft lbs

b M10 x 45mm Hex Head Bolts 4 38 ft lbs

c M10 Nylock Nuts 6 -

d M10 Flat Washers 12 -
 

Tools Needed for Assembly

- Sockets and Open Ended Wrenches (17mm) 
- Drill and Drill Bit (13/32”) 
- Marking Device 
- Small Round File 
- Safety Glasses 

Step Plate Assembly 

1.	 Locate an area on the rear of the foot plate to mount the step plate assembly.  The 
area should be free and clear of other accessories (i.e. rear hitch). 
 
NOTE: If a safety grab bar is installed, the step plate should be mounted to the right 
or left of the grab bar so the user can hold the grab bar for support when entering and 
exiting the cart. 

2.	 The step plate assembly can be mounted to the footplate in two ways. Select the 
preferred orientation.  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



PAGE 3

3.	 Fasten the mounting brackets to the step plate in the preferred orientation using  
(4) M10 x 45mm Hex Head Bolts, (8) Flat Washers and (4) Nylock Nuts. Tighten until 
snug but do not fully tighten. 

4.	 Using the holes on the step plate mounting brackets as a guide, mark the hole  
locations onto the footplate’s edge with a marking device. The center of the hole  
locations should fall over the center of the metal frame in the footplate.    

5.	 Using the marked hole locations as a guide, drill a 13/32” thru-hole at the (2) marked  
locations. File any rough edges.  

6.	 Fasten the step plate assembly to the footplate using (2) M10 x 50 Hex Head Bolts, 
(4) Flat Washers and (2) Nylock Nuts. Hand tighten. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

7.	 Hand tighten any loose hardware. 

 
 
 



PAGE 4

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

This completes the installation of your RHOX Rear Step Kit.   
Please enjoy safely!  

 
Scan QR code or use the link to view our installation video library. 

https://www.youtube.com/user/golfcartinstructions


